WEEK 1: WORK SCHEDULE

For the first session you will work as individuals. Work through the readings and jot down answers to the following questions:

NCE = Neo-classical economics

1. What is entropy?  [In one sentence]

2. What light does the shared root in the Greek word ‘oikos’ meaning ‘household’ shed on our understanding of economics and ecology and their relationship to each other?

3. Ecological-economic problems are complex. Explain the term complexity in one short paragraph.

4. What do Daly & Farley understand by ecological economics as a ‘transdiscipline’?  

5. Ecological economics starts from a critique of mainstream economics’ reliance on GNP growth and its neglect of the biophysical system.  However many environmental problems are due to insufficient attention to standard economics.

6. What is the point of McNeill’s reference to Ecclesiastes in the Bible?  (i.e. what IS ‘new under the sun’?)

7. What is the definition of economics?

8. How does traditional economics answer the following three questions that underpins the discipline? What are the underlying assumptions or premises?

· What ends do we desire?

· What limited resources do we need to attain them?

· What ends get priority and to what extent should we allocate resources to them?

9. What is ‘Pareto efficient allocation’?

10. How does Ecological Economics take a different approach to the problem of efficiency?

11. What is ‘environmental economics’ as opposed to ‘ecological economics’? 

12. How do ecological economists define growth?

13. How is growth different to ‘development’?

14. For a ‘given throughput’, give some examples of how ‘development’ could take place in a specific economic context [for instance ‘transport and personal mobility’ or ‘health’, or ‘happiness’ in the stoke city region]. That is to say think about how economic change could induce a development (i.e. a qualitative improvement, engendering an increase in human well-being), without growth (i.e. without a further net increase of biophysical resources)

15. What is ‘sustainable development’ then from this point of view?

16. What is meant by the phrase ‘the era of ecological constraints’?

17. What is the definition and significance of ‘scale’ in ecological economics?

18. What is the ‘optimal scale’ of economic activity?

19. How does the problem of ‘sustainable scale’ relate to the idea of  economic fairness or ‘just distribution’?

20. Why does mainstream economics with its emphasis on ‘Pareto efficient allocation’ work against sustainable intergenerational distribution?

21. Why would ending growth immediately highlight problems with distribution?

22. What is meant by ‘opportunity cost’? 

23. What is the main difference between NCE and Ecol Econ with respect to the fundamental vision of whole part relations?

24. What is meant by open, closed and isolated systems for energy and matter?

25. How does the idea of ‘optimal scale’ come into NCE and how does its use differ to that in ecological economics?

26. There is no ‘when to stop rule’ in macro-economics – Why not?  

27. The default is ‘grow for ever.’  Why is this the case?

28. What is natural capital?

29. With regard to Daly & Farley, Principles and Applications, CH2, fig 2.2, p 20: ‘The Limits to Growth of the Macro-Economy’
· What is point ‘b’ 

· What is point ‘e’ the futility limit?

· Why according to Daly and Farley have we forgotten that these marginal utility and disutility curves apply not just to individual firms at the level of microeconomics (i.e. firms or households calculating the costs and benefits of different levels and strategies of economic activity, and for instance, calculating when at what point it makes sense to stop expanding production further] – but also applies to the macro-economy as a whole?

30. What is meant by ‘pre-analytical vision’ and ‘paradigm’?

31. What are the merits of the NCE pre-analytical vision that starts with the standard circular flow model of the economy?

32. How does the modified diagram (Daly and Farley, Principles and Applications pp27) taking into account leakages and injections improve the model? 

33. Complete the following table.

	INJECTION
	LEAKAGE
	INSTITUTIONS
	AREA OF POLICY

	Investment
	___________
	Private Finance
	__________



	____________
	Taxation
	Public Finance
	___________



	_________
	Imports
	
	Exchange rate policy



	If sum of ________ >leakages ( economic expansion or inflation




34. What is the problem with this circular flow model that provides the pre-analytical vision for NCE?

35. What is really flowing round the loops of the model?  Is it goods and services? What are the implications of this in terms of entropy and the second law of thermodynamics.

36. In what way is the circular flow model an example of the ‘fallacy of misplaced concreteness’?

37. Summarize the three ways, identified by Daly and Farley, of integrating economics and ecology?

WEEK 2: WORK SCHEDULE
Individually work through the readings and jot down answers to the following questions. In your teams, prepare and submit answers to the questions on the team work roster.

NCE = Neo-classical economics

D&F = Daly and Farley’s ‘Ecological Economics: Principles and 
Applications’

C&S= Common and Stagl’s ‘Ecological Economics: An Introduction’

WkBk = Daly & Farley’s ‘Ecological Economics. A Workbook for Problem 
Based Learning’.

1. There is an argument that growth is not bad for the environment, but rather that growth is a prerequisite for resolving environmental problems.  The empirical evidence for this relates to the fact that for many environmental indicators the situation in the richer advanced capitalist countries has actually improved over the last fifty years (for instance water quality has been improving, along with air quality – and pollution has in some cases decreased – with increases in forest cover and the resurgence of many formerly threatened species).  We will look at the empirical evidence and the theory associated with the ‘Kuznets curve’ in a later seminar.  From what you know about the globalization of production, is there one very obvious explanation for the increase in consumption being coupled with LOCAL environmental improvements in the West?

2. Daly and Farley hint that there might be a difference between economic ‘growth’ and economic ‘development’?  What do they mean?  How can increasing economic value be divorced from the increasing physical size of the economy?  (Give an example).

3. On the basis of Boulding’s classic paper (summarized in fig 4.1, p 104 C&S; also Wkbk, pp 35) – What is the significance of how we perceive the closed /openness of the environmental system upon which we depend?  Does your lifestyle correspond to that of a spaceman or a cowboy?

Thermodynamics:

4. What is the difference between ‘bound’ and ‘free’ energy?

5. What is meant by the term ‘heat death’? 

6. If the entire universe tends towards ‘heat death’, in what way does life seem to contradict this principle?  How does systems theory ( particularly the concept of isolated, closed and open systems) help to explain this phenomenon?

7. Why does the entropy law apply only to an ‘isolated system’? (see C&S)

8. How is a plant an ‘open system’?

9. How is an animal an ‘open system’?

10. What is meant by the term ‘trophic pyramid’?

Stock-flow and fund-service resources?

11. What do Daly and Farley understand by ‘stock-flow’ and ‘fund-service’ resources? 

(Nb. The terminology is slightly different in Common & Stagl)

12. What is meant by the term rivalness?
13. What is meant by excludability?  What is a necessary prerequisite for excludability?

14. Give an example of fund-service resources that are rival.

15. Think of an eco-system (e.g. the Lake District).  List three stock-flow and three fund-service resources provided by the ecosystem. For each resource:

· Tick off the various attributes and say whether they are rival or non-rival and excludable or non-excludable. 

· Say whether they are part of the eco-system structure or the eco-system function?  Are their links between this classification and the stock-flow/fund-service classification?

16. With regard to fossil fuels what does the term ‘energy return on investment’ mean?  How has this changed since the start of the industrial revolution?

17. What is meant by ‘entropic dissipation’? Why does mineral depletion make the idea of a steady state economy ultimately impossible? Does this mean it is a useless concept?

18. Why are mineral goods rival within a generation but non-rival between generations, whilst fossil fuels are rival both within a generation and between generations?

19. How do stock-flow and fund-service characteristics have a bearing on the overall scale of the economy?

20. What are the three main types of biotic resources? 

21. What are the differences between ‘risk’, uncertainty and ignorance?

22. What are exponential, logistic and density dependent growth (see C&S)?

23. What is meant by the terms keystone species and resilience? (see C&S)

24. For renewable biotic resources, what is meant by the ‘critical dispensation point’? (see D&F)

25. What is maximum sustainable yield?

26. On the sustainable yield curve (fig 6.1 pp 99 Daly & Farley), what does it mean when the curve enters negative numbers below critical dispensation point?

27. Why over a certain range, can a lower population stock create higher sustainable yield harvests?

Ecosystem functions and services

28. We are often unaware of key ecosystem functions that act as ecosystem services for human beings.  Can you give an example of one such function /service that human activity damaged almost catastrophically?

29. Describe in a couple of sentences how a forest can act as both a stock-flow resource and a fund service resource.

30. Of the ecosystem services listed by Daly & Farley (pp. 105. fig 6.1) which are rival and which are excludable? 

Week 3: Class Exercises: STRUCTURING THE PROBLEM - Workbook Chapter 3

In class we are going to have a look at exercises 3.1, 3.2 and 3.3 from the workbook.

The broad problem we have identified is the unsustainability of university education – and Keele University in particular.

In doing these exercises you might consider focusing on a smaller component of this problem (whilst keeping the bigger picture in mind) (e.g. the food system, energy or transportation).

  1.  What is a problem? 

A state of affairs that you want to change – which means that one has to have an idea of a desired alternative state of affairs.

This is the goal of problem solving.

To get involved in problem solving you must have two things:

· A belief in the possibility of an alternative /better state of affairs

· Criteria for distinguishing better from worse

This is called structuring the problem.

2.  What are ecological-economic problems often ‘ill-structured’?

3. What is the problem in general terms?  This will involve a very long list of inter-related problems

4. How did the problem become a problem?

· Numerous individual decisions?

· Unequal distribution of wealth and power?

· Changes elsewhere in the economic-ecological system (e.g that made previously innocuous activities harmful – such as increased scale)

· Unintended result of seemingly harmless actions

· Solution to another problem

5. Systems thinking – some ‘laws’ of systems behaviour

· The harder you push the harder the system pushes back (positive feedback loops)

· Behaviour grows better before it grows worse (quick fixes usually create more problems in the long term)

· The easy way out usually leads back in

· Faster is slower

· The whole is greater than the sum of the parts – the need for holistic approach dealing with emergent properties (e.g. understanding how rational individuals behave is not a good starting point for understanding how individuals behave as members of families, groups or communities. The dynamics of the whole configuration of social relations within which they operate – transform the dynamics of individuals – such that they do not always act ‘rationally’ (at least not in the individualistic terms of mainstream economics))

[image: image1.emf]
From Roger Levett, 2005 (see WEBCT).

What happens if we reverse the direction of all these processes?

6. What is the alternative state of affairs – the goal – that we wish to achieve?

· Think about preanalytical vision and tensions between scale, social justice/distribution and efficiency.

· Need to reconcile the interests and values of different stakeholder groups

· Start with the ‘ideal state’ of the whole system

· Then look at the ideal state for the part problem that you have identified….without losing sight of the big problem.

· Now think about how to get there – leverage points.

WEEK 3 WORK SCHEDULE:


http://www.keele.ac.uk/research/lpj/ESRC_Sustainability/index.htm
	
	

	Everyone
	CLASS EXERCISES: 

With reference to Keele University consider again the problem of developing sustainable university education 

Wkbk Exercise 3.1: Viewing the problem from different perspectives

Wkbk Exercise 3.2: Systems thinking.

Wkbk Exercise 3.3: Visioning Exercise: Optimists vs. Pessimists


	Team A


	

	Team B


	

	Team C


	

	Team D


	

	Team E


	


Work through these questions in your own time.  

Some of this material seems complex and you will need to read through certain sections a few times to get your head around it.  Don’t be put off by the diagrams.  The emphasis here is on concepts: how mainstream economics analyses human behaviour, the implicit assumptions and premises, and what gets left out.

1. What is the purpose of microeconomics? (In a sentence)

2. What is expressed by the basic market equation (BME) as outlined by Daly and Farley?

3. With respect to the basic market equation: 

· What is meant by the marginal utility of good x to consumer n (i.e. MUxn)?

· What is meant by the marginal physical product of factor a in the making of good x?

· What is meant by a ‘competitive market’ (i.e. one of the assumptions of conventional economic analysis).

4. What is meant by the law of diminishing utility? (one sentence  - give an example).

5. What according to Daly and Farley would happen if there was a law of increasing utility (and why)?

6. What is the law of diminishing returns (or diminishing marginal physical product)?

7. What is the ‘equi-marginal principle of maximisation’?  (a short paragraph  - see also the explanation in Edwards-Jones et al, p 37). Is there an implicit moral implication in this idea?

8. Explain what each of the three parts of the basic market equation represents?  What is the significance of the price ratio in the middle?

9. What is the ‘psychological rate of substitution’? (one sentence)

10. What is the ‘market rate of substitution’? (one sentence)

11. What is the ‘technological rate of substitution’? (one sentence)

12. In what sense does the BME define an ‘efficient’ allocation or resources?  And what assumptions does this involve? (short paragraph)

13. If we ignore these assumptions and the qualifications they suggest about the market economy, the BME underlines the enormous achievements of the market.  What are these achievements?

14. With reference to Fig 8.4 in Daly and Farley (p138), explain in words how supply and demand curves combine to determine both the price and quantity of goods produced? 

15. Microeconomic analysis centres on the interaction of supply and demand.  This intersection is depicted and analysed using intersecting supply and demand curves.  [Refer to Fig 9.1 in Daly]
· What is a demand curve? What are mapped on the x and y axes of such curves?

· What happens to demand when the price of a commodity changes? Why is this known as ‘shifting along the demand curve’? 

· What other non-price factors can change the level of demand? Why do such changes involve a shift of the entire demand curve?

· What does it mean to suggest that bacon and ham are perfect substitutes?  If true, what would happen to the demand curve for ham if the price of bacon rises dramatically?


· What does it mean to say that eggs are a partial complement for both ham and bacon?  What would happen to the demand curves of bacon and ham if the price of eggs rises dramatically?

16. Think of some other examples of goods that are complements and substitutes, with a scenario in which the change in price of one good alters the demand curves of other goods.

17. Why does the intersection of demand and supply curves represent an equilibrium?

18. Referring to Daly & Farley Fig 9.2 explain in words why any movement away from the equilibrium set in motion forces pushing us back to equilibrium?

19.  What is meant by the consumer surplus? [refer to fig 9.3 pp 144 in Daly and Farley] Why do many environmental goods and services have a high or even infinite consumer surplus?

20. What is elasticity in supply and demand? What determines whether demand for a good is elastic or inelastic?

21. Explain in your own words Fig 9.4 in Daly and Farley.

22. With reference to Fig 9.5 in Daly, explain why the demand for food is relatively inelastic. What may happen to a farmers income in a particularly good year with a bumper crop?

23. What would happen in the World Bank loaned lots of money to developing countries to produce and export food crops? Has this ever happened?

24. What is a ‘production function’ and how do ecological economists differ from conventional economists in the way these are understood?  (Paragraph …300 words: refer to substitutability, complementarity and efficient versus material causes).

WEEK 4 CLASS EXERCISES:  BREAKING DOWN THE PROBLEM

Workbook Chapter 4

Problem breaks down into different conflicting objectives – how far to pursue each one?

Key method: application of the systems approach to marginal analysis.

What is the difference between the idea of an optimal solution (NCE) and a compromise solution (EcEC)?

The idea of an optimal solution comes from stripping away complexity and working on the basis of an unrealistically simple model.

What are the objectives?

  How to start? 

Group objectives into economic, social and environmental categories (cf. scale, distribution, efficiency)

Create a list of undesirable conditions – amelioration of which is an objective.

Make an associated list of costs associated with moving towards desired state.

Note any trade-offs

Think for each one how you might measure success in quantitative and qualitative ways (is it about maximization? Or minimization?....of a  measure…or is it about maintaining a balance – keeping something within a range of values)

For each objective – can you list  measureable criteria by which you can assess performance?

Information overload?  Too much data?  Too difficult to measure?

Now start to think about 

· How much information required for decisions?

· What information is most critical in solving problem?

Marginal costs and benefits of the objectives?

What is meant by marginal analysis?

· considers the benefits and the costs by the next very small incremental change in the system under study.

NCE deems an economic activity should continue as long as MB exceeds MC.

Optimality rule:  MC=MB

How do the laws of diminishing marginal utility and increasing marginal opportunity costs shed light on how we should juggle objectives?

We shouldn’t pursue just one objective however important – because of decreasing marginal utility and increasing marginal opportunity costs.

These principles are combined in the equimarginal principle of optimization.
Why do these two principles, other things equal, suggest a more equal distribution of income and wealth?

· Because marginal utility of additional resources is greater for poorer people, whilst the corresponding opportunity cost of richer person losing control of resources is lower than for a poorer person.

· This means that more equity leads to greater total welfare or utility.

· Most NCEs do not accept in principle that it is legitimate to compare marginal utility between people in this way. But why not?

Any objective – however good – will become uneconomic if pursued to single-mindedly.

Can we use EcEc analysis to signal such problems in advance?

There are good EcEc grounds for satisfying most basic needs first – i.e. allocating according to need not ability to pay, for most basic needs.

Also seek to minimize opportunity costs by sacrificing least valuable alternatives first.

Tyranny of small decisions

The optimal scale as it relates to your problem

Microeconomics focuses on markets in which both consumers and producers are supposed to be applying ‘marginal analysis’, looking at rising marginal costs and decreasing marginal benefits  in order to ascertain ‘when to stop’ – when an economic activity becomes uneconomic.   

In reality, the market fails to send appropriate signals about resources that are outside of the market – i.e. non-rival nonexcludable non-market goods.

The marginal utility of goods is reflected in prices.

The marginal utility of the ecosystem services sacrificed in their production is NOT reflected in prices,

The bigger overall production – the lower the marginal utility of good but the higher the marginal costs in terms of eco-system losses – but costs ignored by prices.

SO as the economy grows,the less reliable are prices as a fulcrum balancing desirability and possibility, means and ends.

The goal of ecological economics is to help us compensate for this failure of microeconomics by applying the when to stop rule to the costs and benefits of the economy as a whole.

But how to apply to a specific problem?

Very difficult to QUANTIFY – marginal costs and benefits. But Conceptual exercise is very useful.

Fig 4.5 E,g, on the graph: 

What is the MU or urban sprawl? Large homes, lawns, social status, social functionality of wealthy neighbourhood – accrue to individuals.

MDU of urban  sprawl: loss of ecosystem services, loss of farmland, increased pollution, increasing infrastructure costs, urban decay, traffic – costs shared by the whole of society.

Key optima is when MU= MDU when ab = bc – growth beyond this point is uneconomic.

If we can’t pin point this point why talk about it? 

Because recognizing the existence of a when to stop rule in the macro economy represents a paradigm shift.

PRECAUTIONARY PRINCIPLE: 

WEEK 4 WORK SCHEDULE:

	WEEK 4: 


	MICROECONOMICS: MARKET FAILURE

Reading 

Chapters 10,11 & 12 in Daly and Farley

Chapter 9 in Common and Stagl.

Daly et al Workbook Chapter 4:

Work your way through the readings and write out short answers to the list of questions below (often a single sentence will do, or at most a couple of paragraphs). If you are conscientious in this work, you will be incredibly well-prepared for the exam.  Some of this technical material we will pick up in class, although often seminars will emphasise the practical exercises in the workbook, and the practical application of the ideas. 



	Everyone
	CLASS EXERCISES: 

With reference to Keele University consider again the problem of developing sustainable university education 

Wkbk Exercise 4.1: Decision Hierarchy 

Wkbk Exercise 4.2: Market Failure Matrix.

Wkbk Exercise 4.3: The optimal scale of the problem


	Team A


	

	Team B


	

	Team C


	

	Team D


	

	Team E


	


Work your way through the following questions.

1. What are the three significant reasons for market failure?

2. What is meant by ‘excludability’ as a characteristic of market goods?

3. What are the special difficulties with regard to excludability vis-à-vis natural goods and services?

4. What is meant by ‘rivalness’ as a characteristic of market goods?

5. Give example of non-rival goods produced by humans and by nature

6. Are stock-flow and fund-service resources rival or non-rival?

7. Give example of non-rival but congestible resources.

8. With respect to Fig 10.1 p 160 in Daly and Farley: Why are excludable but non-rival goods characterised as ‘Potential market goods’ which people may consume ‘but less than they should’?

9. What are ‘open access regimes’?  Why is Hardin’s ‘tragedy of the commons’ associated with them? 

10.  What is the conventional economic response to the problem of free access regimes and the tragedy of the commons?

11.  What are pure public goods and why can they not be produced or allocated by the market?

12. Natural capital provides stock-flow resources and fund-service resources [e.g. a forest provides timber (stock-flow) but also climate and water regulation (fund-service)].  What is the relationship between these two aspects of natural capital and the market system?

13.  How does a knowledge economy based on intellectual property rights and patents undermine or work against the enhancement, preservation or enhancement of public goods?  [Refer to the example of pharmaceuticals].

14. What is meant by an ‘marginal external cost’?

15.  What would happen if agents were charged or compensated for the negative and positive externalities arising from their activity?

16. How do conventional economists argue that these externality problems can be sorted out? What is the Coase theorem?

MARKET FAILURE AND ABIOTIC RESOURCES

17.   With respect to fossil fuels what are: 

· Marginal extraction costs: 

· Marginal external costs:  

· Marginal user costs: 

18. What is the Hotelling rule?

19. What are the main problems of traditional accounts of fossil fuel extraction from the point of view of ecological economics?

20.  Fossil fuels are rival between generations.  With high levels of recycling, mineral resources are rival within a generation but not between generations. Why?

21. What is ‘Ricardian Land’?

22.  What makes Ricardian land at least potentially a good candidate for market allocation? And why might ecological economists question whether Ricardian land is a product best allocated by the market?

23.  Under what condition are renewable resources non-rival between generations?

MARKET FAILURE AND BIOTIC RESOURCES:

24.  What is the catch-per-unit-effort hypothesis?

25. See Fig 12.1 in Daly and Farley (p 203): Why is point S a stable equilibrium and point U an unstable equilibrium? 

26.  Under what circumstances might a profit maximising capitalist kill a goose that laid golden eggs and would continue to do so for ever?  

Workbook Chapter 4

27. What is the difference between the idea of an optimal solution (NCE) and a compromise solution (EcEC)?

28. What is meant by marginal analysis?

29. How do the laws of diminishing marginal utility and increasing marginal opportunity costs shed light on how we should juggle objectives?

30. How does the equimarginal principle of optimization combine both of these two principles? (In a few words)

31. Why do these two principles, other things equal, favour a more equal distribution of income and wealth?

32. What is meant by the ‘tyranny of small decisions’?

33. Why does the ‘when to stop rule’ not come into play with environmental goods and services? 

34. If it is so hard to quantify and pinpoint the point where marginal benefits equal marginal costs in the macro-economy, what is the point of the analysis?

35. What is the precautionary principle? 

WEEK 5 – WORK SCHEDULE:

	WEEK 5: 


	MACRO-ECONOMICS

Reading 

Chapters 13 & 14 in Daly and Farley

Chapter 5,6 & 7 in Common and Stagl covers similar ground

Daly et al Workbook Chapter 5:

Work your way through the readings and write out short answers to the list of questions below (often a single sentence will do, or at most a couple of paragraphs). If you are conscientious in this work, you will be incredibly well-prepared for the exam.  Some of this technical material we will pick up in class, although often seminars will emphasise the practical exercises in the workbook, and the practical application of the ideas. 



	Everyone
	CLASS EXERCISES: 

Wkbk Exercise 5.1: Creating a list of knowledge and skills.

Wkbk Exercise 5.2: Creating a list of key stakeholders.

Wkbk Exercise 5.3: Creating a list of key disciplines.

For these exercises down load the most recent Genuine Progress Indicator report from the following website. 

http://www.rprogress.org/sustainability_indicators/genuine_progress_indicator.htm

Have a look also at 

http://www.flora.org/sustain/Question/GPI.html

You can either extend the example of the sustainability of Keele University or think about measuring the GPI of the Stoke region following the methodology identified in Case 5, pp 96 Wkbk.



	Team A


	

	Team B


	

	Team C


	

	Team D


	

	Team E


	


Work through the following questions.

1. What is the minimal policy recommendation of microeconomics?

2. What is fiscal policy concerned with?

3. What is monetary policy concerned with? 

4. What traditionally is the explicit goal of macroeconomics?

5. In contrast what is the goal of Ecological economics? 

6. How do Ecological Economics and mainstream economics differ with respect to allocation?

7. How does the traditional NCE view justify the assumption that microeconomic dynamics are enough to guarantee the effective functioning of the macroeconomy?

8. What is meant by the fallacy of composition? 

9. What is the general equilibrium model?

10. Why has growth for so long been seen as a panacea?  To what problems?

11. Why is macro-economics known as ‘income theory’?

12. Why does ecological economics refer to ‘transformation’ rather than ‘consumption’?

13. In the following list what is included in GNP?

14. In what ways might economic welfare and non-economic welfare move in different directions?

15. What is meant by defensive expenditure?

16. What is the relationship between GNP and the depletion of natural capital?

17. Why, strictly speaking, is it redundant to refer to sustainable income? Why do conventional national accounts fail to subtract natural capital consumption in calculating income.

Vis-à-vis GNP and the problems of consumption as a measure of welfare 

18. What is wrong with GNP as a measure of welfare?

19. What is the significance of the idea that welfare and well-being may be in part ‘positional’? 

20. Summarise the logic and significance of Max-Neef’s Matrix of Human Needs. Why is it so hard to operationalise?

21. Why is ‘quality of life’ so difficult to quantify?

22. What are the implications of non-consumption based measures of welfare (such as Max-Neef’s matrix) for the central ecological-economics problems of scale, distribution and allocation?

Vis-à-vis MONEY

23. What are the three functions of money?

24. In the terminology of Karl Marx, what was the significance of moving from a situation represented by C-M-C* to the situation M-C-M*?  In the latter situation what is M* – M (i.e. M*minus M)?  

25. What is the difference between exchange and use value in terms of their capacity for accumulation?  And what is the ecological significance of this difference?

26. What is meant by ‘virtual wealth’?

27. What is seigniorage? 

28. What is the ‘fractional reserve system’?

WEEK 6 – WORK SCHEDULE:

	WEEK 6: 


	MACRO-ECONOMICS II : DISTRIBUTION & MACROECONOMIC POLICY TOOLS FOR RECONCILING SUSTAINABLE SCALE, EFFICIENT SCALE AND JUST DISTRIBUTION

Reading 

Chapters 15 & 16 in Daly and Farley

Daly et al Workbook Chapter 6:

Work your way through the readings and write out short answers to the list of questions below (often a single sentence will do, or at most a couple of paragraphs). If you are conscientious in this work, you will be incredibly well-prepared for the exam.  Some of this technical material we will pick up in class, although often seminars will emphasise the practical exercises in the workbook, and the practical application of the ideas. 



	Everyone
	CLASS EXERCISES: 

Workbook Chapter 6, 

Each group will do the exercise and report back. In the report you must first explain to the rest of the class the significance of the exercise and how it works.



	Team A


	Ex 6.1 INFLUENCE MATRIX: For car culture in Keele



	Team B


	Ex 6.1 INFLUENCE MATRIX: For car culture in Keele



	Team C


	Ex 6.2 (p136) FEEDBACK DIAGRAMS: For car culture in Keele



	Team D
	Ex 6.2 (p136) FEEDBACK DIAGRAMS For car culture in Keele 

	Team E


	Ex 6.1 INFLUENCE MATRIX: For car culture in Keele




Work your way through the following questions:

1. What is the relationship between the problem of distribution and ‘Pareto optimality’?

2. Why does a Pareto optimal allocation assume not only a given distribution but a given scale as well?

3. What are the hidden normative values tied to the notion of Pareto optimality?

4. What is the difference between wealth and income in ecological economics? What are the units?

5. How does NCE explain the distribution of wealth?

6. What is the difference between the functional and personal distribution of income?

7. What are the Lorenz curve and the Gini coefficient ?

8. In what way might a society with a Gini coefficient of zero be ‘unfair’ or socially inefficient? 

9. Why does the problem of scale  imply that the question of distribution is more critical for ecological economics than NCE?

10. What is meant by the ‘inter-temporal distribution of wealth’ and how do NCE and Ecological Economics differ in their approach to this question?

11. What is inter-temporal discounting?

12. What is meant by net present value (NPV)?  

13. Why do economists acknowledge that social discount rates should be lower than individual discount rates?

14. What is the IS-LM model? What is it for?  (one paragraph)

15. In a few short sentences, what is the relationship between interest rates, investment and income?

16. Are savings determined more by income or interest rates?  Why?

17. What does the LM curve show?

18. Why do people prefer to keep at least some of their wealth in the form of money rather than assets?

19. For an individual what are the opportunity costs of holding onto money in the form of cash? And what are they for not having it in the form of cash?

20. What is the equilibrium condition for the monetary sector?

21. What is depicted by the LM curve?
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22. In a short paragraph, in complex economic systems how do scale, allocation and distribution influence each other?

23. In the teasing apart the interactions between various components of complex systems, what are ‘critical’, ‘active’, ‘passive’ and ‘buffer’ ‘factors’?

24. What is the significance of such a categorisation of factors for studying economic-ecological problems?

25. In Fig 6.3 in the workbook (p130), what do the plus and minus signs indicate?  Are you sure?

26. Study Fig 6.4 and come up with two alternatives (one positive and one negative feedback loop) for a single subsystem or component of the ‘sustainable Keele’ problem.  Identify a leverage point.

27. How does the market mechanism skew the feedback systems?

WEEK 7 – WORK SCHEDULE:

	WEEK 5: 


	INTERNATIONAL TRADE

Reading 

Chapters 17,18 & 19 in Daly and Farley

Chapter 12 in Common & Stagl

Daly et al Workbook Chapter 7:

Work your way through the readings and write out short answers to the list of questions below (often a single sentence will do, or at most a couple of paragraphs). If you are conscientious in this work, you will be incredibly well-prepared for the exam.  . 



	Everyone
	CLASS EXERCISES: 

Ex 7.1 Identifying a preference function.  

Do this exercise for the goal of reducing a more sustainable transport regime. Referring to the discussion in the workbook – work your way as far as possible through steps 1-7 on pp 146-7.  Then, thinking about the individuals and stakeholders that might be involved in the decision making, think about the form of the ‘preference functions’ for one of the criteria.

Ex 7.2 Spaghetti diagrams (with the cases indicated below)



	Team A


	Ex 7.2 -- Car culture and sustainable Keele transport 

	Team B


	Ex 7.2: Case 2 – Living machines and waste water management (pp 36)

	Team C


	Ex 7.2:  Case 3 – Transportation in Burlington Vermont (pp 59)

	Team D


	Ex 7.2:  Case 6 Conversion of mangrove ecosystems (wkbk pp 125).

	Team E


	Ex 7.2:  Case 4 Urban Sprawl in Hudson River Valley, New York (wkbk p76)


Work your way through the following questions:

1. What is the difference between ‘absolute’ and ‘comparative’ advantage?

2. What are assumptions are hidden in the law of comparative advantage?

3. Why according to Daly and Farley, does the fact that the IMF and the World Bank explicitly push a policy of globalisation conflict with the inter-nationalist  model of world community underlying their charter? 

4. What are the advantages of an internationalised economic system over a globalised one?

5. How do transnational corporations and mergers conflict with the assumption of perfect competition?

6. How does international patent law work to the disadvantage of developing countries and lock in the advantage of industrial leaders?

7. How does globalisation reduce the capacity to learn from mistakes?

8. How does globalisation reduce the ecological reflexivity of economies – i.e. the visibility of ecological impacts?

9. What is the ‘race for the bottom’ and how does it impact on social and environmental standards?

10. What bearing do externally-focused (export-oriented) and internally-focused (domestic production for the home market) strategies of industrialisation have on wage levels?

11. How does international free trade regime affect food security?

12. What is the balance of payments?

13. Explain how a country might run a deficit on its current account? (one sentence)

14. How might a country run a surplus in its capital account? (one sentence)

15. How do current and capital accounts interact with each other? (one sentence)

16. What is meant by moral hazard?  Can you think of a recent example in the UK where this became an issue?
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17. What are synthesis frameworks for?

18. How does the approach of ecological economics differ from NCE?

19. What is a MULTI-CRITERIA-DECISION-AID (MCDA)? What are ‘Pareto dominated alternatives’? What is a preference structure?

20. How do different MCDA systems vary?

21. In MCDA analysis what is ‘outranking’?

22. What is an indifference threshold? And a preference threshold? Use the criterion of employment to explain.

23. What is meant by ‘decision space’?

24. What is the purpose of the GAIA package – or graphical analysis for interactive assistance?

WEEK 8 – WORK SCHEDULE:

	WEEK 8: 


	POLICY DESIGN PRINCIPLES

Reading 

Chapters 20,21 in Daly and Farley

Work your way through the readings and write out short answers to the list of questions below (often a single sentence will do, or at most a couple of paragraphs). If you are conscientious in this work, you will be incredibly well-prepared for the exam.  . 




Work your way through the following questions:

1. Why according to Tinbergen does each policy goal require a separate and independent policy instrument?  Think of an example (other than the one in the book)?  

2. What is the principle of subsidiarity? List five or six ecological-economic problems and identify the appropriate level at which they should be resolved.

3. For ecological economists what are the three basic problems, the three basic policy instruments or domains and the order of priority between these?

4. What is the major policy choice with respect to controlling throughput?

5. What are the two main policy choices available for limiting throughput at the input end?

6. Define the terms ‘source’ and ‘sink’. How do they differ in social and economic terms? For a resource such as coal, list three methods of regulation that could bring the extraction and usage into line with the capacity of sinks to absorb pollution.

7. What is the difference between property rights and privilege or ‘presumptive rights’?

8. List and explain the three different types of property rights.

9. What are the four types of policy that are brought to bear on the problem of SCALE? Define each and give examples.

WEEK 9 – WORK SCHEDULE:

	WEEK 9: 


	POLICY DESIGN PRINCIPLES: JUST DISTRIBUTION and ECONOMIC (ALLOCATIVE) EFFICIENCY

Reading 

Chapters 22,23 in Daly and Farley

Work your way through the readings and write out short answers to the list of questions below (often a single sentence will do, or at most a couple of paragraphs). If you are conscientious in this work, you will be incredibly well-prepared for the exam.  . 




Work your way through the following questions:

1. What is the general point that one can make about the marginal utility of consumption for very poor people as opposed to very rich people?

2. Why does distribution become a more pressing issue once you begin to take scale seriously?

3. If we accept the principles of the market economy, and the essential justice of people retaining wealth they have created for themselves by their own effort, then where is the room for policy innovation in relation to distribution?

4. What are the possible rationales for putting an absolute cap on personal incomes?

5. Within the parameters of NCE, how does utilitarian philosophy combined with ‘marginal analysis’ justify redistribution and the elimination of poverty?

6. What are the four sources of income?

7. How might a wider or more democratic spread of capital ownership make market economies work more efficiently?

8. Outline the principles of the Alaska Permanent Fund. 

9. What is the problem of a purely cash dividend coming from schemes like the permanent fund or the Sky Trust…in which the use of  natural capital (owned by everyone) is limited by quotas which are auctioned off?

10. What was the basic insight of Henry George in relation to society’s treatment of land?

11. Why would it be enormously expensive and impractical to internalize all environmental externalities into the market system? Why does this contradict the entire rationale and benefit of the market system?

12. How do the assumptions of ‘net present valuation’ and temporal discounting require an ethical bias against inter-generational equity?

13. How does advertising skew the macro allocation of resources to market goods? 

14. What do Daly and Farley mean by ‘comprehensive efficiency’?  How does it differ from ‘technical efficiency’?

